Name

‘ , Functions Basics Review Worksheet

Tell whether the relation is a function. Explain.

1. 3.
X Yy
8 8
6 6
g 2 6
2 4 0 8
Function? Function? Function?
Explain: Explain: Explain:
For #4-9, use the following formulas
‘(x) =7-3x h(x) = 2(x — 1)? g ==+3
4.h(4) 5. f(-5) 6. h(-4)
7.8(7) 8.g(-1) 9. (6)

For 10 and 11, write a function for the situation. Identify the independent and dependent variables.

10. An ice rink charges $3.50 for skates and $1.25 per hour.

11. Terry has 30 pieces of gum and gives 2 pieces to each of his friends.




Name

4

c(x) = —;-—

Which is greater
b(-2) or c(-2)?

13.

12,

14. What does it mean if | ask: Find f(3)?

Use the graph below to answer #14-16

15. Using the graph

value below.

, find f(3) and write Th'

=2.

16. Using the graph, find x when f(x)

Gasoline Usage
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Find £(125)

What does it mean in this situation?
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Functions Review Worksheet \ f,z)

‘T ell whether the relation is a function. Explain.

1. 2. Y 3
A
-3 A C 12 X |y
-2 > 13 4 8 [ 8
\\
-1 < \i 14 ! 6 6
0 > 15 2 4 | 4
- x 2 | 6
2 4 0 8
Function? __ No Function? % €S Function? %C&
Explain: -2 \as Explain: __@€ac¢\\ x Explain: __€ach .'494+
oo C\\'('(-C’CA“' \/\‘\S vne A »\ag one Ouh'p\,‘f
oubpurs - (QgsSeS Ave verticel |ine KH')
For #4-9, use the following formulas
flx)=7-3x h(x) = 2(x — 1)2 g(x) = "__'23 +3
4.h(4) 5. (-5) 6. h(-4) ”
D) = 2(4- $(3)=7-3(-5) (- = 2(=4-)

INC)E! 2(3)1 £(-9)= 7+1S L(-4)= -DH*
(T D 50

(7)=-2+3 (Y= 243 -
-~ -3 2 J -1 ‘F(")‘q 3(¢)
7.8(7) ‘3@ = (b 8.g(-1) V=24 9. f(6) .-
g 47 :2,% +3 @ 3(_m2 ’ fl 7-=7 3

For 10 and 11, write a function for the situation. Identify the independent and dependent variables.
10. Anice rink charges $3.50 for skates and $1.25 per hour.
_lfr‘(x)z 350 +1.2Sx  (ND = # of e oS
Dee= cosy

11. Terry has 30 pieces of gum and gives 2 pieces to each of his friends.

4> 30- 2y Rierds
‘ |ND= # of

D> # of pieces o o le £

c}(x)zzx (ND= # of recaiiiss

De?: ,# 0( p‘wbe %W‘ 3\\{/\ ow{f



12.

13.
Which is greater .
Which is greater b(-2) or c(-2)?
m(3) or n(3)? L SS e (A ST \)(1_1\ =2 _
, m(3)=% v AR p ‘(")=';_4
; "'- " -2) - (’L
HoH NélTHée"- }:...T .;_gf SNASaE ( = -4
1l He ARe H R ) -
EQUAL- ' ,,.-4--—«*“ Dz 3
< (_'7) 2 C ("13
Use the graph below to answer #14-16
- 14. What does it mean if | ask: Find f(3)?

£ind the surpet L the

npur is vh—ee

15. Using the graph, find f(3) and write the
value below.

e $-6)
-f 3 N S . S 2 - SR .
" T L 11 _116. Using the graph, find x when f(x)=2.
! $(0)=2 cnd {{-2)=72
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y Gasoline Usage
i7. A ine sag Find f(125) = \©
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13 What does it mean in this situation?
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